E_ﬁa 5 | 9{'-;”:.—(“/{7\[/7.'_2_

-

]

2015-11-08
RS S ST

¥

N



NEIFTRIEK

IS this Intentional?
NITERTTHN?



INT LIR— MDA (1)

Is this Intentional?

% ruby -ve 'p [-0.0, 0.0].max’
ruby 2.3.0dev (2015-11-03 trunk 52430) [x86_64-linux]

-0.0
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Is this Intentional?

% ruby -ve 'p (-1.0)**Float::INFINITY"
ruby 2.3.0dev (2015-11-03 trunk 52430) [x86_64-linux]

1.0
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|s this intentional?

% ruby -ve 'p [-0.0, 0.0].max’

ruby 2.3.0dev (2015-10-05 trunk 52033) [x86_64-linux]

-0.0

| expect 0.0.
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Is this Intentional?

% ruby -ve 'p (-1.0)**Float::INFINITY"
ruby 2.3.0dev (2015-10-05 trunk 52033) [x86_64-linux]

1.0

| expect NaN.
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REFBDHF (1)

> % ruby -ve 'p [-0.0, 0.0].max’

> ruby 2.3.0dev (2015-10-05 trunk 52033) [x86 64-linux]
> -0.0

> | expect 0.0.

Array#max uses <=> method for comparison.

Unfortunately, it is impossible to distinguish 0.0 and
-0.0 using Float#<=>.



REFBDHF (2)

> % ruby -ve 'p (-1.0)**Float::.INFINITY"
> ruby 2.3.0dev (2015-10-05 trunk 52033) [x86_64-linux]

>1.0
> | expect NaN.

( -

This behavior is inherited from pow() function in C.
So, it Is not a Ruby's problem.

Actually it returns NaN on NetBSD.
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> % ruby -ve 'p (-1.0)**Float::.INFINITY"
> ruby 2.3.0dev (2015-10-05 trunk 52033) [x86_64-linux]

>10-  giibc 55 pow() #* 1.0 &3&T
> | expect NaN. "

HEHL glibc Z{F>TW3

This behavior is inherited from pow() function in C.

So, It iIs r.10t a Ruby's problem. \Ruby DL
Actually it returns NaN on NetBSD. ZHH-TWB

NetBSD D pow() I& NaN %iRg
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[EIEINBWVDAIE LW EINE
> Array#max uses <=> method for comparison.

> Unfortunately, it is impossible to distinguish 0.0
> and -0.0 using Float#<=>.

| understand. Thank you.
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- Ruby O ZEEHII/ZWTWBRITS I BDOEMBEZREL TWADIC Float#*™ TlEL TV
LW —> —BMHO &, RIBKEHEOSE N
« BRI ZRARD
- C99 Tl 1.0 2R EEWNTHS (F9.4.4, Annex F (& normative) —» IEL <AL

- SUSV4 Tl pow() ' 1.0 ZiRFTEEWVTH D — =ELL7RW
1272 MX *—2I DB DWTWBDT optional A

c BDEFEZFAND
- Perl: Ruby& B UK EREMKFE (GNU/Linux 725 1.0, NetBSD 75 NaN)
- Python: 1.0 (NetBSD T% 1.0 IZ7253)
- Java: NaN - =L
- ECMAScript: NaN - 2L\
« IFJFRRIBZRANDS
- GNU/Linux: 1.0 GNU/Hurd: 1.0 AIX: 1.0 NetBSD: NaN
- FreeBSD: 1.0 Haiku: 1.0 SunOS: NaN
- OpenBSD: 1.0 Darwin: 1.0 Minix: NaN
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» Rationale for International Standard ---
Programming Language --- C
[ The result of pow(—2,%) is +«, because all
large positive floating-point values are even

integers. |
http://www.open-std.org/jtcl/sc22/wgl4/www/C99RationaleV5.10.pdf
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http://www.open-std.org/jtc1/sc22/wg14/www/C99RationaleV5.10.pdf
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